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d{kk%& 12 ohad{kk%& 12 ohad{kk%& 12 ohad{kk%& 12 oha
fo"k;%& okf.kT; ,oa izca/k ds ewy rRofo"k;%& okf.kT; ,oa izca/k ds ewy rRofo"k;%& okf.kT; ,oa izca/k ds ewy rRofo"k;%& okf.kT; ,oa izca/k ds ewy rRo
le;%& 3 ?k.Vsle;%& 3 ?k.Vsle;%& 3 ?k.Vsle;%& 3 ?k.Vs
iw.kk Zd%& 100iw.kk Zd%& 100iw.kk Zd%& 100iw.kk Zd%& 100

2
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question Paper)

Class:- 12th

Subject:- Elements of Commerce &
      Management

Time:- 3 Hours
Maximum Marks :-  100

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&

(i) lHkh iz’u gy dhft,AlHkh iz’u gy dhft,AlHkh iz’u gy dhft,AlHkh iz’u gy dhft,A

(ii) iz’u Øekad 1 ls 10 rd ds mRrj yxHkx 30 ’kCn esa nhft,Aiz’u Øekad 1 ls 10 rd ds mRrj yxHkx 30 ’kCn esa nhft,Aiz’u Øekad 1 ls 10 rd ds mRrj yxHkx 30 ’kCn esa nhft,Aiz’u Øekad 1 ls 10 rd ds mRrj yxHkx 30 ’kCn esa nhft,A

izR;sd iz'u gsrq 2 vad fu/kkZfjr gSAizR;sd iz'u gsrq 2 vad fu/kkZfjr gSAizR;sd iz'u gsrq 2 vad fu/kkZfjr gSAizR;sd iz'u gsrq 2 vad fu/kkZfjr gSA

(iii) iz’u Øekad 11 ls 18 rd ds fy;s 3 vad fu/kkZfjr gSA 'kCn lhek 50 ’kCniz’u Øekad 11 ls 18 rd ds fy;s 3 vad fu/kkZfjr gSA 'kCn lhek 50 ’kCniz’u Øekad 11 ls 18 rd ds fy;s 3 vad fu/kkZfjr gSA 'kCn lhek 50 ’kCniz’u Øekad 11 ls 18 rd ds fy;s 3 vad fu/kkZfjr gSA 'kCn lhek 50 ’kCn

esa nhft,Aesa nhft,Aesa nhft,Aesa nhft,A

(iv) iz’u Øekad 19 ls 24 rd ds fy;s 4 vad fu/kkZfjr gSA 'kCn lhek 75 ’kCniz’u Øekad 19 ls 24 rd ds fy;s 4 vad fu/kkZfjr gSA 'kCn lhek 75 ’kCniz’u Øekad 19 ls 24 rd ds fy;s 4 vad fu/kkZfjr gSA 'kCn lhek 75 ’kCniz’u Øekad 19 ls 24 rd ds fy;s 4 vad fu/kkZfjr gSA 'kCn lhek 75 ’kCn

esa nhft,Aesa nhft,Aesa nhft,Aesa nhft,A

(v) iz’u Øekad 25 ls 28 rd ds fy;s 5 vad fu/kkZfjr gSA 'kCn lhek 120 ’kCniz’u Øekad 25 ls 28 rd ds fy;s 5 vad fu/kkZfjr gSA 'kCn lhek 120 ’kCniz’u Øekad 25 ls 28 rd ds fy;s 5 vad fu/kkZfjr gSA 'kCn lhek 120 ’kCniz’u Øekad 25 ls 28 rd ds fy;s 5 vad fu/kkZfjr gSA 'kCn lhek 120 ’kCn

esa nhft,Aesa nhft,Aesa nhft,Aesa nhft,A

(vi) iz’u Øekad 29 ls 30 rd ds fy;s 6 vad fu/kkZfjr gSA 'kCn lhek 150 ’kCniz’u Øekad 29 ls 30 rd ds fy;s 6 vad fu/kkZfjr gSA 'kCn lhek 150 ’kCniz’u Øekad 29 ls 30 rd ds fy;s 6 vad fu/kkZfjr gSA 'kCn lhek 150 ’kCniz’u Øekad 29 ls 30 rd ds fy;s 6 vad fu/kkZfjr gSA 'kCn lhek 150 ’kCn

esa nhft,Aesa nhft,Aesa nhft,Aesa nhft,A

Instruction:

(i) Attempt all questions.

(ii) Question Nos. 1  to 10 carries 2 marks each  (30 words)

(iii) Question Nos. 11  to 18 carries 3 marks each  (50 words)

(iv) Question Nos. 19  to 24 carries 4 marks each (75 words)

(v) Question Nos. 25  to 28 carries 5 marks each (120 words)

(vi) Question Nos. 29  to 30 carries 6 marks each (150 words)

iz’u 1&iz’u 1&iz’u 1&iz’u 1& ykxr }kjk fu;a=.k D;k gS \ykxr }kjk fu;a=.k D;k gS \ykxr }kjk fu;a=.k D;k gS \ykxr }kjk fu;a=.k D;k gS \

What is cost control ?

iz’u 2&iz’u 2&iz’u 2&iz’u 2& foi.ku ls jkstxkj dh izkfIr gksrh gSA dSls \foi.ku ls jkstxkj dh izkfIr gksrh gSA dSls \foi.ku ls jkstxkj dh izkfIr gksrh gSA dSls \foi.ku ls jkstxkj dh izkfIr gksrh gSA dSls \

How does marketing make employment ?
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iz’u 3&iz’u 3&iz’u 3&iz’u 3& iwoZ deZpkfj;ksa dh iqu% fu;qfDr ls D;k ykHk gSAiwoZ deZpkfj;ksa dh iqu% fu;qfDr ls D;k ykHk gSAiwoZ deZpkfj;ksa dh iqu% fu;qfDr ls D;k ykHk gSAiwoZ deZpkfj;ksa dh iqu% fu;qfDr ls D;k ykHk gSA

What is the advantages of re-appoitment of ex-employees.

iz’u 4&iz’u 4&iz’u 4&iz’u 4& daiuh lfpo ls D;k vk'k; gSAdaiuh lfpo ls D;k vk'k; gSAdaiuh lfpo ls D;k vk'k; gSAdaiuh lfpo ls D;k vk'k; gSA

What do you mean by company secretary ?

iz’u 5&iz’u 5&iz’u 5&iz’u 5& dk;Zokgd la[;k D;k gSAdk;Zokgd la[;k D;k gSAdk;Zokgd la[;k D;k gSAdk;Zokgd la[;k D;k gSA

What do you mean by 'Quoram"

iz’u 6&iz’u 6&iz’u 6&iz’u 6& oS/kkfud fjiksVZ D;k gSAoS/kkfud fjiksVZ D;k gSAoS/kkfud fjiksVZ D;k gSAoS/kkfud fjiksVZ D;k gSA

What is statutory Report ?

iz’u 7&iz’u 7&iz’u 7&iz’u 7& " i= vk/kqfud ;qx dh vkRek gSAi= vk/kqfud ;qx dh vkRek gSAi= vk/kqfud ;qx dh vkRek gSAi= vk/kqfud ;qx dh vkRek gSA"  le>kb;s A le>kb;s A le>kb;s A le>kb;s A

"Letter is the soil of modern age" Explain.

iz’u 8&iz’u 8&iz’u 8&iz’u 8& chek ds izeq[k izdkjksa dks crkb;sAchek ds izeq[k izdkjksa dks crkb;sAchek ds izeq[k izdkjksa dks crkb;sAchek ds izeq[k izdkjksa dks crkb;sA

Write the types of insurance.

iz’u 9&iz’u 9&iz’u 9&iz’u 9& dk;Z'khy iwath D;k gSAdk;Z'khy iwath D;k gSAdk;Z'khy iwath D;k gSAdk;Z'khy iwath D;k gSA

What is working capital ?

iz’u 10&iz’u 10&iz’u 10&iz’u 10& O;kolkf;d okrkoj.k D;k gSAO;kolkf;d okrkoj.k D;k gSAO;kolkf;d okrkoj.k D;k gSAO;kolkf;d okrkoj.k D;k gSA

What is business enviornment ?

iz’u 11&iz’u 11&iz’u 11&iz’u 11& izca/k ,d tUetkr ,oa vftZr izfrHkk gSA le>kb;sAizca/k ,d tUetkr ,oa vftZr izfrHkk gSA le>kb;sAizca/k ,d tUetkr ,oa vftZr izfrHkk gSA le>kb;sAizca/k ,d tUetkr ,oa vftZr izfrHkk gSA le>kb;sA

"Management is inborn and acquired ability." Explai n.

iz’u 12&iz’u 12&iz’u 12&iz’u 12& va'k/kkfj;ksa ds izfr lfpo ds D;k drZO; gSAva'k/kkfj;ksa ds izfr lfpo ds D;k drZO; gSAva'k/kkfj;ksa ds izfr lfpo ds D;k drZO; gSAva'k/kkfj;ksa ds izfr lfpo ds D;k drZO; gSA

What is the duties of company secretary regarding share holders.

vFkok vFkok vFkok vFkok (OR)

dk;Z lwph D;k gS \ bls rS;kj djrs le; /;ku j[kus ;ksX; ckrsa crkb;sAdk;Z lwph D;k gS \ bls rS;kj djrs le; /;ku j[kus ;ksX; ckrsa crkb;sAdk;Z lwph D;k gS \ bls rS;kj djrs le; /;ku j[kus ;ksX; ckrsa crkb;sAdk;Z lwph D;k gS \ bls rS;kj djrs le; /;ku j[kus ;ksX; ckrsa crkb;sA

What is Agenda ? What points kept in mind for making it.
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iz’u 13&iz’u 13&iz’u 13&iz’u 13& chek nkok D;k gS \chek nkok D;k gS \chek nkok D;k gS \chek nkok D;k gS \

What is insurance claim ?

 iz’u 14&iz’u 14&iz’u 14&iz’u 14& " fQDdhfQDdhfQDdhfQDdh"  D;k gS \ blds dksbZ rhu dk;Z fyf[k, \ D;k gS \ blds dksbZ rhu dk;Z fyf[k, \ D;k gS \ blds dksbZ rhu dk;Z fyf[k, \ D;k gS \ blds dksbZ rhu dk;Z fyf[k, \

What is FICCI ? Write its any three functions ?

iz’u 15&iz’u 15&iz’u 15&iz’u 15& jktuhfrd okrkoj.k ds fdUgha rhu dkjdksa dks le>kb;sAjktuhfrd okrkoj.k ds fdUgha rhu dkjdksa dks le>kb;sAjktuhfrd okrkoj.k ds fdUgha rhu dkjdksa dks le>kb;sAjktuhfrd okrkoj.k ds fdUgha rhu dkjdksa dks le>kb;sA

Write any 3 factors of political enviornment.

iz’u 16&iz’u 16&iz’u 16&iz’u 16& fu;kstu dh fo'ks"krk,a crkb;sA ¼dksbZ rhu½fu;kstu dh fo'ks"krk,a crkb;sA ¼dksbZ rhu½fu;kstu dh fo'ks"krk,a crkb;sA ¼dksbZ rhu½fu;kstu dh fo'ks"krk,a crkb;sA ¼dksbZ rhu½

Write any 3 characterstics of planning.

vFkok vFkok vFkok vFkok (OR)

Qs;ksy ds laidZ J`a[kyk vkSj vuq'kklu ds fl)kar dks le>kb;sAQs;ksy ds laidZ J`a[kyk vkSj vuq'kklu ds fl)kar dks le>kb;sAQs;ksy ds laidZ J`a[kyk vkSj vuq'kklu ds fl)kar dks le>kb;sAQs;ksy ds laidZ J`a[kyk vkSj vuq'kklu ds fl)kar dks le>kb;sA

Explain the feyol's principle of scalar chain and disipline.

iz’u 17&iz’u 17&iz’u 17&iz’u 17& NRrhlx<+ ljdkj dh vkS|ksfxd uhfr;ksa ds mn~ns'; crkb;sANRrhlx<+ ljdkj dh vkS|ksfxd uhfr;ksa ds mn~ns'; crkb;sANRrhlx<+ ljdkj dh vkS|ksfxd uhfr;ksa ds mn~ns'; crkb;sANRrhlx<+ ljdkj dh vkS|ksfxd uhfr;ksa ds mn~ns'; crkb;sA

Write the objects of industrial policy of C.G. Government.

iz’u 18&iz’u 18&iz’u 18&iz’u 18& m|ferk fodkl ds vFkZ vkSj fo'ks"krk,a crkb;sAm|ferk fodkl ds vFkZ vkSj fo'ks"krk,a crkb;sAm|ferk fodkl ds vFkZ vkSj fo'ks"krk,a crkb;sAm|ferk fodkl ds vFkZ vkSj fo'ks"krk,a crkb;sA

What is meant by entreprenurial development.

iz’u 19&iz’u 19&iz’u 19&iz’u 19& fu;kstu dh izfØ;k crkb;sAfu;kstu dh izfØ;k crkb;sAfu;kstu dh izfØ;k crkb;sAfu;kstu dh izfØ;k crkb;sA

Describe the process of planning.

iz’u 20&iz’u 20&iz’u 20&iz’u 20& HkrhZ ds ckg~; L=ksrksa dks le>kb;sAHkrhZ ds ckg~; L=ksrksa dks le>kb;sAHkrhZ ds ckg~; L=ksrksa dks le>kb;sAHkrhZ ds ckg~; L=ksrksa dks le>kb;sA

Discuss the external sources of recruitment.

vFkok vFkok vFkok vFkok (OR)

lsohoxhZ; izca/k ds lapkyu laca/kh dk;ksZ a dks fyf[k,AlsohoxhZ; izca/k ds lapkyu laca/kh dk;ksZ a dks fyf[k,AlsohoxhZ; izca/k ds lapkyu laca/kh dk;ksZ a dks fyf[k,AlsohoxhZ; izca/k ds lapkyu laca/kh dk;ksZ a dks fyf[k,A

Write the operative functions of personnel management.
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iz’u 21&iz’u 21&iz’u 21&iz’u 21& u;s lk>snkj ds izos'k ysus ds dkj.k lk>snkjh esa gq, ifjorZu ds fy, u;s lk>snkj ds izos'k ysus ds dkj.k lk>snkjh esa gq, ifjorZu ds fy, u;s lk>snkj ds izos'k ysus ds dkj.k lk>snkjh esa gq, ifjorZu ds fy, u;s lk>snkj ds izos'k ysus ds dkj.k lk>snkjh esa gq, ifjorZu ds fy, " x'rhx'rhx'rhx'rh

i=i=i=i="  fyf[k,A fyf[k,A fyf[k,A fyf[k,A

Write a circular letter for changing in partnership  firm as the admission

of new partner.

iz’u 22&iz’u 22&iz’u 22&iz’u 22& laLFkkxr foRr fdls dgrs gSa blds nks"k crkb;sAlaLFkkxr foRr fdls dgrs gSa blds nks"k crkb;sAlaLFkkxr foRr fdls dgrs gSa blds nks"k crkb;sAlaLFkkxr foRr fdls dgrs gSa blds nks"k crkb;sA

What do you mean by institutional finance ? Write its demerits.

iz’u 23&iz’u 23&iz’u 23&iz’u 23& " VsyhVsyhVsyhVsyh"  6-3 dks dSls fØ;kfUor fd;k tkrk gSA 6-3 dks dSls fØ;kfUor fd;k tkrk gSA 6-3 dks dSls fØ;kfUor fd;k tkrk gSA 6-3 dks dSls fØ;kfUor fd;k tkrk gSA

How operate the Tally 6.3 ?

vFkok vFkok vFkok vFkok (OR)

ns'kh cSadj ,oa O;kikfjd cSad esa varj crkb;sAns'kh cSadj ,oa O;kikfjd cSad esa varj crkb;sAns'kh cSadj ,oa O;kikfjd cSad esa varj crkb;sAns'kh cSadj ,oa O;kikfjd cSad esa varj crkb;sA

Diffrentiate between commercial Bank & Indiginious Banker.

iz’u 24&iz’u 24&iz’u 24&iz’u 24& O;kikfjd i=ksa ds vkarfjd xq.k crkb;sAO;kikfjd i=ksa ds vkarfjd xq.k crkb;sAO;kikfjd i=ksa ds vkarfjd xq.k crkb;sAO;kikfjd i=ksa ds vkarfjd xq.k crkb;sA

Discuss the enternal qualities of the bussiness letter.

iz’u 25&iz’u 25&iz’u 25&iz’u 25& izca/k ds izeq[k dk;ksZ a dks le>kb;sAizca/k ds izeq[k dk;ksZ a dks le>kb;sAizca/k ds izeq[k dk;ksZ a dks le>kb;sAizca/k ds izeq[k dk;ksZ a dks le>kb;sA

Discribe the main functions of management.

iz'u 26&iz'u 26&iz'u 26&iz'u 26& vekSfnzd vfHkizsj.kk D;k gS \ le>kb;sAvekSfnzd vfHkizsj.kk D;k gS \ le>kb;sAvekSfnzd vfHkizsj.kk D;k gS \ le>kb;sAvekSfnzd vfHkizsj.kk D;k gS \ le>kb;sA

What is non monetory motivation ? Explain.

vFkok vFkok vFkok vFkok (OR)

foi.ku D;k gS \ foi.ku dh iqjkuh vkSj uohu fopkj/kkjk esa varj nhft,Afoi.ku D;k gS \ foi.ku dh iqjkuh vkSj uohu fopkj/kkjk esa varj nhft,Afoi.ku D;k gS \ foi.ku dh iqjkuh vkSj uohu fopkj/kkjk esa varj nhft,Afoi.ku D;k gS \ foi.ku dh iqjkuh vkSj uohu fopkj/kkjk esa varj nhft,A
What is marketing ? Defferentiate between old & new concept of market-
ing management.

iz'u 27&iz'u 27&iz'u 27&iz'u 27& vafre rdkns dk ,d dkYifud i= fyf[k,Avafre rdkns dk ,d dkYifud i= fyf[k,Avafre rdkns dk ,d dkYifud i= fyf[k,Avafre rdkns dk ,d dkYifud i= fyf[k,A
Write a assuring the final dunning  letter.
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iz'u 28&iz'u 28&iz'u 28&iz'u 28& _.ki= D;k gS \ _.ki=ksa ds ykHk crkb;sA_.ki= D;k gS \ _.ki=ksa ds ykHk crkb;sA_.ki= D;k gS \ _.ki=ksa ds ykHk crkb;sA_.ki= D;k gS \ _.ki=ksa ds ykHk crkb;sA
What is debentur ? Discribe the advantages of its.

vFkok vFkok vFkok vFkok (OR)

Hkkjrh; vkS|k sfxd fodkl cS ad dk o.k Zu fuEu fcanqvk s a ds vk/kkj ijHkkjrh; vkS|k sfxd fodkl cS ad dk o.k Zu fuEu fcanqvk s a ds vk/kkj ijHkkjrh; vkS|k sfxd fodkl cS ad dk o.k Zu fuEu fcanqvk s a ds vk/kkj ijHkkjrh; vkS|k sfxd fodkl cS ad dk o.k Zu fuEu fcanqvk s a ds vk/kkj ij
dhft,&dhft,&dhft,&dhft,&
¼1½ LFkkiuk ¼2½ mn~ns'; ¼3½ iwath ¼4½ izca/k ¼5½ dk;Z¼1½ LFkkiuk ¼2½ mn~ns'; ¼3½ iwath ¼4½ izca/k ¼5½ dk;Z¼1½ LFkkiuk ¼2½ mn~ns'; ¼3½ iwath ¼4½ izca/k ¼5½ dk;Z¼1½ LFkkiuk ¼2½ mn~ns'; ¼3½ iwath ¼4½ izca/k ¼5½ dk;Z
Describe the Industrial Development Bank of India in following points-
(1) Establishment (2) Objects (3) Capital (4) management (5) Functions.

iz'u 29&iz'u 29&iz'u 29&iz'u 29& daiuh lfpo ds nkf;Roksa dk mYys[k dhft, dksbZ N% \daiuh lfpo ds nkf;Roksa dk mYys[k dhft, dksbZ N% \daiuh lfpo ds nkf;Roksa dk mYys[k dhft, dksbZ N% \daiuh lfpo ds nkf;Roksa dk mYys[k dhft, dksbZ N% \
State the libialities of a company secretory. (any 6)

vFkok vFkok vFkok vFkok (OR)

lHkk ls D;k vk'k; gS \ oS/kkfud lHkk ,oa okf"kZd lk/kkj.k lHkk esa varjlHkk ls D;k vk'k; gS \ oS/kkfud lHkk ,oa okf"kZd lk/kkj.k lHkk esa varjlHkk ls D;k vk'k; gS \ oS/kkfud lHkk ,oa okf"kZd lk/kkj.k lHkk esa varjlHkk ls D;k vk'k; gS \ oS/kkfud lHkk ,oa okf"kZd lk/kkj.k lHkk esa varj
nhft,Anhft,Anhft,Anhft,A
What is meeting ? Distinguish between statutory meeting and annual
General meeting.

iz'u 30&iz'u 30&iz'u 30&iz'u 30& O;kolkf;d okrkoj.k dks izHkkfor djus okys dkjdksa dks crkb;sAO;kolkf;d okrkoj.k dks izHkkfor djus okys dkjdksa dks crkb;sAO;kolkf;d okrkoj.k dks izHkkfor djus okys dkjdksa dks crkb;sAO;kolkf;d okrkoj.k dks izHkkfor djus okys dkjdksa dks crkb;sA
Write the factors which are affecting business enviornment.

vFkok vFkok vFkok vFkok (OR)

m|ferk fodkl ds mn~ns'; ,oa vko';drkvksa dks le>kb;sAm|ferk fodkl ds mn~ns'; ,oa vko';drkvksa dks le>kb;sAm|ferk fodkl ds mn~ns'; ,oa vko';drkvksa dks le>kb;sAm|ferk fodkl ds mn~ns'; ,oa vko';drkvksa dks le>kb;sA

Describe the object and needs for entrepreneurial development.
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